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OAnE &2l 8,750
— SAI =2 500,000& * 1CH 500
—Zeiy = 100,000¥ * 5CH = 50/100 250
—SAMI ENH 200,000& * 53| * 1CH 1,000
—ZgH EH(E%) 200,0008 * 53 * 504 5,000
— ZEE EU(Z2h) 200,0008 * 53 104 1,000
—PC =cl 100,000&  20CH = 20/100 400
— JIE =2l 50,000& » 123 600
OJIE ArR22lH 5,0008 =+ 209 * 128 1,200
202 o4 Hl 80,000 80,000 0
01 S OHI 80,000 80,000 0
OZAICIAI ot 22 =& 0] 80,000
— 2LHOHl 20,0008 = 20 = 122 « 123 57,600
— 22l 04 dl 80,000& = 208 = 14« 22,400




SN S AICHAQ Bt
FH: HE2AHH (S AICIAQID) (D1EHJIE)

Sl Il = Al (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
203 R =&t 9,500 9,000 500
01 71228 YR =2H 3,300 3,300 0
OXANLRT I B2E A2 =T Y|
3,300,000& * 1H 3,300
03 A ZXH S =ZH| 2,000 1,500 500
Ot AANY =2 5 HEFA
2,000,000& * 1H 2,000
04 NI 4,200 4,200 0
ORAN2EYE=AHI 350,000& = 123 4,200
204 MR FH| 5,400 5,400 0
IEEEEEES BT 5,400 5,400 0
OXMZ L2+ AT 5,400
—XEg=& 350,000& » 1% » 12&€ 4,200
— SAC X E 100,000& » 1H 128 1,200
HRES(SACXMAB)(ZELXAMNL /AL Al 298,600 298,600 0
HEAHHK = 298,600 298,600 0
LIS A X & 298,600 298,600 0
701 DBt HSHES 298,600 298,600 0
01 JIEtl AN ES 298,600 298,600 0

OFJI0IE TAAE HXEY SASERA
= 298,600,000& * 14 298,600




